SUMMETIVE ASSESSMENT - 11 (2015-16)
CLASS - IX SCIENCE [code: SB5MNPG]

4MT-31 / SECTION-A

1 s R S
Define molecule. % JS“NJ[ TUTORI AL
Chiage €xcellence
2 TS feRol &R Bt | 2

What are canal rays ?

3 e 1 it fafd T wered Rt st 2t @2 1
What is the cell wall of fifagi made up of?

[

4 e % FAIH il AT FSY | 2

Explain the term reverberation of sound,

5 w foegn €t &1 STAE 1200 W Bl 10 Wl F 7@ et e UG F R 2 2
An electrical heater is rated 1200 W. How much energy does it use in 10 hours ?

6 == feu v el & vaEfe 9 fefa 3
(@)  KaSO, (b)  MgPOy () NHC
(d) ZnS (e) NasN (£) AgBr
Write the chemical names of the following compounds :
(a) K250, (b)  Mg(POs) (0 NH4Cl1
(d 7nS ()  NaN ()  AgBr

7 (a) WS oA F R €7 e i 3
(b) Tordt aea o o O e WwITSE S THE UEEH % forg Sudnt feren S g
(a) What are valence electrons ? Give example.
(b) State the property of an element which can be used for its identification.

8 (@) YA % SRF UH B: HEA FY-TES (CgHy,0q) FI G&F BT €1 TW 39 0 3nfvas 3

geamH fienfad Sifs
[0 Ee8WH C=12.0u, H=1.0 u, 0=16.0 u]
(b)  Tr=1 Giffest H vl w1 gerH AT 9 i

(D) Al5O4); (iiy CaCly
(a)  During respiration, a six carbon molecule-glucose(CgH;,04) undergoes combustion.
Calculate its molecular mass. o= )
) . A
[Atomic mass C=12.0u, H=1.0u, 0=16.0u] )Juj\{)h'u-( - 3
(b) Find the ratio by mass of the combining elements in the following compounds :
(B AlySOy)3 (i)  CaClp

9 frafafaa o o Sufiem I @&W T WM SR fLERt 24 9 el (9 fem o 3
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ATER) 1 Seei@ HIT :

(i) 2Rerwma (i) fotrend (i) W

State the advanced features present in and seen for the first time (according to evolution) ip
the following groups :

(i) pteridophyta (i) gymnosperm (iii) angiosperm

10 ﬁmﬁtﬁwmxﬁﬁsﬁ@mzmmzﬁaﬂﬁmmmﬁﬁwﬁﬁaﬁﬁm 3
Classif)y/fhe following under fGn gus/ protozoan /viral{bacterial diseases : in za,

tuberglosis, malaria, skin infections, typhoid, hepatitis.

11 (@) ¥ I FE @ S g R0 3
(b) & form TR T R o o ferlt forvm 3 3 oft g st areaey £

(@)  From where dpes the term disease ori ginate ?
(b)  How is it possible to be in poor health without actually suffering from a particular
disease ?

12 ()  FEHHEN F1 fagra s Fifow woF @ spyam farfam 3
(b) W%@a@aﬁmﬁ’gﬁmm%a}mmwﬁmﬁaaﬁﬁwfﬁﬁmi
(a) State Archimedes’ principle. Give its two applications ?
(b) When an object is immersed in the fluid, name the two forces acting on it ?

B3 i SRE * HeEa ¥ st WE aww & v i 3
With the help of labelled diagram explain the echo ranging technique.

¥ oS S A ¥2 2 five 30 my/s w1 wwE @ @ TRl § afe g FHHI 1 ST 3
1:4 2, @ 579 st Sofial w1 srpam o 32 79 ST FT HRY Wiea qfie Fiforw |

What is meant by Kinetic energy ? Two objects are moving with the same speed of 30 m/s. If
their masses are in the ratio of 1 4, what is the ratio of their Kinetic energies. Give reason to
justify your answer.

15 (a) 40g?=51?mﬁah$lama15cma%,Hﬁwwmlg/cmaaﬁraﬁuqamaqw%n? 3
T S hIfTT |
(b) Rl e Tt W % STeX I ST i By 2 "

(@) The volume of 40 g of a solid is 15cm> If the density of water is
1g/cm?, will the solid float or sink ? State reason.
(b)  Why is it easier to lift a heavy stone under water ?

16 A 1 O e F b e o agd S s § o A9 @ o HfF SmA et whan # 3
T F T o AT @ @ ¥ a7 st & 3w g & A% F 1 frew sEm v
fershat 2 @1 o1 foamsht % s o e ATEE ¥ wen T oot o wey ¥ 398 39 B
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farsral F1 =l & ST HMEH 61 ¥4 T HE 5 T8 GHA |

(a) e fom fagia © % w38 s St

(b)  zEH FE fafa wemEd ) .

() s & & A & SwEm F Te e afen ) Sue i g gt ™ qed fafa

In a hot summer afterncon a fruit vendor was selling fruits very loudly. As Amreen was

preparing for her exams, she got disturbed. She inquired from her father about the

instrument being used by the "fruit vendor". Father told her that it was a megaphone also

known as "loud speaker". He explained to the fruit vender not to use megaphone near home.
_ (a State the principle on which the megaphone works.

~(b)  Explain its working,.
()  .Why megaphones should not be used in residential areas ? Mention the value shown
by her father.

17 e T & g & ST M FA H 4 e ¥ 39 a IO o @ @t ? @ @ w5
T foflge | 59 T & gaSEa 9 Fife ) g afm sl 0 goreea famm g gu saE
T 1 SR frefua s |

An atom of an element has 4 clectrons in the outermost M shell. What will be the atomic
number of this element ? Name this element. Find the valency of this element. Draw a
schematic diagram of its atom showing the distribution of electrons in its shells.

18 @ g o & fRl 9wt # PRt e 9red qu fuvd i @ werg wifee S
(b) TR wRifte wwea qun fguwd wafim &1 14 =5 it
(c) BRIl F IUfCYd 7YaT STV & % YR W (a) W 6 S H T ¢ A7 wgerdi Hi
e ifs |

(a) Associate any three phyla of animalia with triploblastic body organization and
bilateral symmetry.

(b) State the meaning of triploblastic body organization and bilateral symmetry.

(¢)  .On the basis of presence or absence of coelom, compare the three phyla answerd in (a).

19 @ A @ - d I g W R EE gid o e g s e ¥ 5
uferesfag, ad-sEm, &g I, sAfdER
(b)  THWER & W B 51 HE A€ ?
(© TSR & Wi & g wred X fauda yae i 2 € 2

(a) Which of the following diseases will cause major ill-effects on general health -
Elephantiasis, Cough and Cold, Tuberculosis, Diarrhoea.
(b) What are such diseases called? i . ?

(c) Why do such diseases have major ill-effects on general health ? . ‘ :
20 100 g S8 TG I S 25¢m? § T WS FH I 1g/em3 T g 5
(@) TR U T I AT S WA AT G2 - prsiss.

(b) el 1 SMifer B T IR 2.CF
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() A e ael W W W F OFAAA 42 kg ¥ W OIWH ARAGEH  So8HH
42 kg 9 7 B A1 FfER 7 379 ST HRO wied i)

The volume of 100 g of a solid substance is 25cm3and the density of water is 1g/cm3

(a)  Find the density of the substance. Will it float or sink in water ?

(b)  Find the relative density of the substance.

(c)  Ravi finds his mass to be 42 kg on a weighing machine. Is his actual mass more or less
than 42 kg ? Give your answer with reason.

21 (a) wﬁmwm%vmmqﬁmﬁaaﬂmlmmmamwmaﬁs
aftefee i ‘s
(b) 3000%6ﬁummﬂm®ﬁsﬁmkm/hﬁmﬁnﬁﬁﬂa% w9 g0 T ¢
F YYE &F W6 21 9%l g GO T WA 24000 N 1 3H 99 §N @@ & W [
den ferar mn = fewfem Fifsm)

(a) Define the work done by a constant force. Write its SI unit and define this unit.

(b) A 3000 kg truck moving at a speed of 72km/h stops after covering some distance. The
force applied by brakes is 24000 N. Compute the distance covered and work done by
this force.

HIT-& ( g6 918 ) /SECTION - B (OTBA)
(* Please ensure that open text of the given theme is supplied with this question paper.)

TAR W H IAERE (@) Y949/ Handling Drought in our Country

22 IRG @ AAfaA § 3@ gC 98 SaRY 5 fEa & afusds g@ Y99 @ a1 sue |rien 2
HI = 8?2

Looking into the map of India, explain how much area is prone to highest drought and what
are its possible causes.

23 Td & I9E F AN HH & 60 T SR G R T FRAE H Ieerd g 3
State the measures taken by state government to minimise the effect of drought.

24 e WE & fou germ fofy faen § srifea #1 = vfaen 8 w0 e aw g2 5
What lessons were learnt from the project carried out in Relegan Siddhi district in order to conserve
water?

HMT- H /Section - C

25 e T SR U T e S WEkd s g A 1

@  Zi=sr (b)  HdteA fatem 7 9 §

() 9 (a) (d) T (a) T (b)

When a pulse is allowed to get reflected from a wall then :

(a) Li=Lr (b)  compression becomes rarefaction
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only (a) (d)  both (a) and (b)

26 "F T 10kg TN F T F T G YT WA A 2 F 9 A F O R S 1
= 5 A 7w T (g =10 ms—)

‘ L
(4cm)
(10 cm)
(5 cm)
A 5 Y W R A
(a) 5x101Pa (b)  2%x10%Pa
(€  45x104Pa (d)  3x104Pa

A student is doing an experiment to find the pressure exerted by an iron cuboid of mass 10kg
as shown below (g=10ms~ 2.

{4 cm)
(10 cm)
(5 cm)
The pressure exerted by the cuboid on the ground is :
(@A)  5x104Pa (b)  2x10%Pa
() 45%104Pa (d)  3x10%Pa
27 Wf@iﬁgﬁf@f&ﬁﬂmméﬁmmﬁ%mﬁwm/mmmm%: 1

(@) Sy
(b) A
(c) vy Ty srgied oy
(d)  Fd g

In an experiment to determine the velocity of a pulse through a stretched slinky the type of
wave/pulse produced is :

(a) Transverse wave

(h’{ Longitudinal wave

(c) Transverse and longitudinal wave both
(d) Electromagnetic wave
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FITIT |

(FI& WA T=AH, Ca=40u, CI1=35.54 )
(a) 70.0g (b)  155g
(c) 555g (d) 175g

o
Given below is a chemical equation to show the formation of calcium chloride by burning
calcium in chlorine gas:- ’
Ca(5)+Clz(g} —— CaClzw

Calculate the mass in g of calcium chloride formed when 20g of calcium combines with 35.5¢
of chlorine gas.

(Relative atomic masses, : Ca=40u and CI=35.5u)

(a) 700g (b)  155g
()  55.5g (d) 17.5g
30 - aﬁfmﬁwﬁmaﬂmﬁwmﬁv&?ﬁmﬁwmmﬁmwﬁam#m 1
ﬁmﬁm:
(@) @WAgLuAH (b) ¥CUEH
(¢) 9l & d (d) @l =y

If in a chemical reaction one of the products is a gas, then to verify the law of conservation of
mass reaction, the reaction will be carried out in an i

(a) open container (b) closed container

(c) under water (d) emply room

31 mmmﬁ»ﬁ%mmﬁmmﬁaﬁﬁmaﬂ#ﬁmwaﬁl
eSO T F gEifas g8t qoi T §
(a) Bt g9, gamrR frfaamm, dqm o
(b) Foeet qo1, womrm fmfa=m, quen e
(©) T I, AR s, dge g
(d) Pt g, sferpreq fmfa=m, doma ge

After observing a monocot and a dicot plant Simon was asked to choose the correct option that
gives the best description of a monocot plant :

(a) trimerous flower, Parallel venation, fibrous roots.

(b) trimerous flower, Parallel venation, tap roots.

(c) pentamerous flower, Parallel venation, fibrous roots.

(d) trimerous flower, Reticulate venation, fibrous roots.

32 fer A @ Frm i w1 o A e 1 awie T SER A E 1
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-
\
\
(@ HE G (b) TR F G
() TR A @ =™
Which of the following plants bears roots as shown in the figure b
below ? '
N\
v
(a) Pea plant (b) Maize plant
(9) Wheat plant (d)  Grass.
33 fohelt st & @ & AT i AHE F h 9 O A Frend Freren fF 98 st & 1

(@) gl aferd & T o
(b) el @l o % A H
()  Siqeli & FUd F aua A
(d) SIS % S F quT

Having studied the mouth parts of a mosquito, a student concluded that it is adapted for :

(a) piercing the bones of animals.
(b)  piercing the skin of animals.
() piercing the skull of animals.

(d)  plercing the shell of a seed.

34 UF T A Ffe 9901 Uk THH STEqqHi H 4 HHFER gl R ARE § i W ¥ @ ¥ 2
TER 9% 1 4R 9fw e Fifau)
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O
O

O == 0 s

10 —f 10 =

20, = 20| =

30 = 30| —

0 3 40 =

503 G T
sm gm ]

-

Diagrams of two identical spring balances are shown below with same zero error and same
least count. According to the figure calculate the wei ght of the body.

O

ﬂr—“—zr—— 0““““——;_]
10 = 0| 3
20/ 3 20| 3
3015: —g 30| -3,
40 = 0| —=
503 s0l_3
gmﬂJ gm

~

w1 et g 1 ol ot w3 gelrn o 8, @ S g freenfia 2a @ s O & — 2
(a) T I F AEa 9 i)

(b) 3IH T F T § F9)

(c) O a5 F EaH F TR

& e HYAT 1 A HIT

When a body is fully immersed in a liquid, the volume of the liquid displaced by the solid is :

(a) greater than the volume of the solid body.
(b) less than the volume of the solid body.
(<) equal to the volume of the solid body.

Choose two incorrect statements.

i S st e = fawioa we &2 Teed g SwiT T o s wa fafad 2

Why an organism develops adaptive features ? Stale an adaptive feature shown by fish.
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